Pre-Calculus A Name : Kead
Section 7.1-7.2 Applications Homework Date : E Period:

1. You plan to rent a 14-foot truck for a two-day local move. At truck rental agency A, you can rent a
truck for $29.95 per day plus $0.49 per mile. At agency B, you can rent a truck for $50 per day plus $0.25
per mile.

a. Write a total cost equation in terms of x and y for the total cost of renting the truck from each
agency. (1404‘* & of mules
Agency A: 0= 29.95(2)+0.44 X > f(x)= 59.90+0:49x

Agency B2 g(x) = 50(«\1) + 029X S g(x)= 100+ 0.25X
240y§

b. Find the point of intersection of the two equations. Interpret the meaning of the point of
intersection in the context of the problem.

Since X represeintline  of mmies,
5.0 + OMA X = 100+0.26 X

ar T mies, ¥ne st wovld ve
54.90+0.24% =100

0.24 X 40.|

%= 161

¢. Which agency should you choose if you plan to travel a total of 100 miles during the two-day

the same whetner You rented

from Agenuy Aor &
move? Why?

£(100) = 5990 +0.44 (100) = 810290 & Rgency A 1s theaper
glwo) = 100+0.26 (100) = & (26

d. How does the situation change if you plan to drive 200 miles during the two-day move?

£(1200)= 5q.90 + 0.4 (200) = §167.90

g(2000= 100+ 0.26 (200) = $160 <~ AGENCY B 13 cheaper

2. Two cheeseburgers and one small order of French fries from a fast-food restaurant contain a total of
830 calories. Three cheeseburgers and two small orders of French fries contain a total of 1360 calories.
Find the caloric content of each item.

cheeseburgers ¢ frencn fnes = £ 00
N\ : .
20+ 1F=830 > f:=830-2¢ > 3¢+2(830-2¢)=\360 £:8%0-2(300)
30+ 2F = 1360 3¢+ 660 - ¢ =1360 £=830-600
b0 -¢=1360 £=23
-(=-300
=300 (neeseburgers © 300 Calories

Fries: 220 calonids




3. Find the dimensions of the rectangle given that the perimeter is 56 meters and the length is 4 meters

greater than the width.

3o Pevimeter = Qew+R+W A+AW =66 5 A(+w)+aw=56  poyyg
| P=al+aw grawtaw =56 5.0
W W=z l='{+UJ
=i Yw=yg ___ mamms
R w=13 0 tmengiont are
lbm and 12Zm

4. What are the dimensions of a rectangular tract of land if its perimeter is 44 kilometers and its area is

120 square kilometers?

L Penimettr = 40+ aw 30tdw=44 > Al=Y4-aw 3 f=ad-W > (aﬁm=|ao

- 2:43-\0
= j - a: l: ‘a
w iw Avea = fw fw =130 Jaw-w>=1a0 .
o 0: w-adwtal
1= aa’la
0 = (w40) (w-2)
pwhensions ar ( 1a =10
1ok and 126M W10, =
5. There are 13 animals in the barn. Some are chickens and some are pigs. There are 40 legs in all. How
many of each animal are there?
(KNS =6, pgc=p - Onikens- 21eg<, prgs- 4legs
There are 7 pigs
C+p=13 2 ¢=\3-p 3 2(\’:'?)‘*4‘7:“0 =131 — uim
- n \
.1C+qp=q0 7_b~2p+\|p—q0 =L
20+ 2p =40
2p:=1% > p=1
6. Ms. R. reached into her pocket and had a total of 13 quarters and dimes mixed together. They totaled
$2.50. How many quarters and dimes did she have?
Quarkrt =Q , Dimes=d ; Quarttig: 0.2, pimes: 0.0
Q+d=13 5 9=14d s 26 (13-4 ) +.\0d= 280 Q:13-5
-26Q +.10d 350 3.36-0.25d +.\0d = a.80 Q-9
3,36 -.\9d = 3.S0
-\6d= -1 There are 5 dumes
d<5 and 2 quarters




